Practice Gateway II for 1372

‘Take the practice gateway just as you would in an actual gateway:

* 30 minutes

* No books, notes, or calculators allowed

These formulae will be given to you in the gateway:
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9. Convert the following integral to an integral with variable 6 using the substitution
2¢ = sin . The values of the new limits must be in radians.

1/2 3
f < dzx
/4 V1 —4a?

10. / zsec’z dz



/1"3—4I—|—'F173f3

E:E

]
2. [ IH\HSIE + 8dr
0

3. /cnsgmsin*‘ T dr

4. [sinE(S:J_:/Z} dx

z+6
' (2 —z)(3z + 2)

6. /::: cos 2z dx

3
: d
! [T—Z:{: .

3
. d
2 /:524—16 -

1/2 I’E
9. / dx
1/4 V 1 - 4.."3‘?

10. f:sseczz: dx

dx

dx

Practice Gateway II for 1372

r—4z" ' + 77V 2%dz

|

—41n|z| + 1422 + C

1

Il

—

u4/3
-1 [

11 1 1
e SN i 114,"'3 . 4/3 = =11 41/3 _ 9
4/3L L1143 849) = 2(11)

= fcasﬁ zsin® zsinzdr = [cnsl z(1 — cos® ) sin x d

—-/ui{l —u?)du (u=cosz = du= —sinzdz)

3

u® oyl cos®x cos’z
=-z+t3 +C = - x— t +C
1 —cosdzx 1 cos3zx T sindx
—= dr = —_ — dr = — —
/ e fz 3 W=~ g tC

2
= —EﬂlQ—I|+§1H[31+2’+C

= ISl;EI-/Sm;IdI {Uzﬂ:;** du:d:l-', dv = cos2zdz = v =
B xsin2:1:+=:ﬂ523:+0
- 2 4
3 —2 3
— _Q[T_EIdI——§IH|T—2Il+C

3
_/lﬁuﬂ+lﬁ4du (z = 4u = dz = 4du)

3 1 3, I D
_4/u.2+1du—4tan u,+C’—4tan 4—|~C
m/2  Llgin®g f
:/ 8> 227 (22 = sinfl = 2dz = cosf df)
/6 \/l—singﬂ 2
1 i‘TI.’rE
= — Eingﬂdg
].ﬁ Tl'f"rﬁ

1 11
x(3z% + 8)1/3 dg = Ef uPdu (u=32"+8= du=6zdr)
8

1 9 =] 2 3
/2—I+3I+2d‘r‘_/2—zd$+§/3m+2d$

sin 21
2

=Itﬁnﬂ:—ftanﬂ:d:?? (u=1z = du=dz, dv=sec’zdr = v=rtanz)

—sinT
= rtanz + de = ztanz + In|cosz| + C
cos T

)



